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24 B

[S}oF] (a) marked, (b) unmarked / First, Development #2 does not correspond to the teacher's beliefs, The teacher
provides deductive activities, not inductive activities, Second, Consolidation does not correspond to the teacher's beliefs .
The teacher asks display questions like 'In the sentence Julia upset her father,” who was upset, Julia or her father? ", not
referential questions which are more related to the students’ life,

** S22} ThotollH deductive activitiesoll cist 27142 27EF 2.5 AgslE. &, (F4§ HA Y5t 2 3215 olAlo] 2-&)3
7] ef2of| deductive activitiesS Slicf~= 4lo g

** display questions?| o|f-& D Al7} -Eoj2 22| of|A|E HolF 2 2 4 referential Q0| o}yl display Q-2 2ol ch3t 272 34|
e
=) B4t cle|Yg W7)zH

[2]2}] (a) marked, (b) unmarked / First, Development #2 does not correspond to the teacher’'s beliefs, The teacher
provides deductive activities, not inductive activities, by presenting the target of expressing emotional feelings first and
making students apply it to examples, Second, Consolidation does not correspond to the teacher's beliefs. The teacher
asks display questions like "In the sentence 'Julia upset her father,' who was upset, Julia or her father? ", not referential
questions,

[Btzda} 72] marked, unmarked. The stages that do not correspond to the teacher's beliefs are Development #2 and
Consolidation, In Development #2 the teacher uses deductive approach as he first presents the target rule of emotional
expressions and then provides the examples of emotional expressions, She does not use the inductive activities, // In
Consolidation, the teacher asks a display question like 'In the sentence 'Tulia confuses her sister ' who is being
confused? | not a referential question that is more related to the student’s life,

[BFHa} 71] a, marked b, unmarked / Development #2 does not correspond to the teacher's belief, Instead of using
inductive activites and providing learning targets within context, the teacher presents the target rules of expressing
feelings first, and makes students do activites without context ( =deductive activities), // Consolidation does not
correspond to the teacher's belief, Instead of asking referential questions, teachers asks display questions about the
target rules.

[6FE-E2]] (a) marked (b) unmarked / First, Development #2 does not correspond to the teacher's beliefs, The teacher
uses deductive activities instead of inductive activities by presenting rules of expressing emotional feelings first and
making students apply it to example sentences, Second, The teacher asks display questions instead of referential
questions by asking 'In the sentence Julia confuses her sister’ who is being confused?’.

** O] oA F 2T ML teacher beliefs 'inductive activities’ and ‘referential questions’' 2} AHWIE]: 7]819] "deductive
activities' and 'display questions'2h= §0}2 Eroboll E3A|7iof 3tk HolcH of2l 3] ojo) 720l LSISS. E312] 27l
(=2 2= T2 YWokct. 719§ St ZFAFIG/ URULEE 2= 2HUR

*# (a),(b) 'worry SAHE 2HEAb2. ol ‘Astc} ek £9lo| (a)ol4l SALSI0l SHol7t Shehihe |7t EFEAF 2 Aol ‘24
AJ7]ck 2hs jol7} .

[71¥=]
(Development #2) (inductive activities), deductive activities, presenting the rule first and apply it
(Consolidation) (referential Qs), display Gs, one example guestion



[ %2} 71] Teacher 5 is not correct. In order ta increase the internal

consistency of the test_lam 3_not Ibem 1 showld be deleted since tem 1
Teachar &

T which | i i ira
i® mot correct, The correlation bebween this test and the ERAT & test
administerad at the same time, displays the evidence of goncurrant
salidity, ned pradictive valldity,

8= 3} 72) Teacher 5 and Teacher & have wrong interpretations, For Teacher 5,
he should delete Itam 3 which has -0 21 Item—Tokal Correlation_but net Hem 1
which has 0 57 ltem ~Total Correlation in order to increase the internal

consistency of the test, For Taacher &, the carralation between this test and
thie ERAT diaplaye the evidence of concurrent validity, net predickive validity,

['SheH] First, Teacher 5 is not correct, To increase the internal
consisbency of the teat, item 1 which has high item discriminatian
should not be deleted since the item which has low item discrimination
lessens the internal consistency of the test, Second, Teacher & is not
correct ginge the ERAT which was developed and valideted is
administered at the same time with this test, displaying the evidence
af concurrent validity.

Tescher 5 @ internal consistency @ F0]7| $iE4 item digcrimination
o] whE EAEE 2okt (ou] 7| &% A

Teacher & ¢ (A)0(M B rewty developed best?} 0]0] validated and
developed ERATZL FAlol 2|8IHch -= H & A2 concurrent
validity Hold (24 8 AHI 2v%s] 2l AlH7I) d2dale
predictive validity)

Teacher 2 © item discrimination®] -0_21 = 43|84 at =198h4e) Fat
7 S{h27 = (o) BRI o B2 AR El ok Beke B -
2507 2ol Az 25 F Sl E = Aok 1) miskeying (EoHE
B O 2) conatruction of e response aptions (Tha) ohl chl
LR R )]

Teaches 3 : parfarmance on item 4(item 2] WE-§)2) MW H2 YU
7 06322 Yajsic

Tewehes & @ test takers performances ~ consistent = nternal
consistency?| ch = 0 8622 consistent®ich

[ 11 [resre——
() e gy e S = WL W AR v, AT Rt a2l it Y R
T by (o IFY b ooens oo which o o o o Bl Por che

e v o e bk
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LRI
-

(2} hem Ducreaion = 4542 SEoH HH4E WWHHE TETH: B - B

W5 W o ven w0 e g of pragi. the clscTaninEIng poeaT of a8
o b wwrssaerd by emperng dhe sasbey of propke sk i e
S 1 WP S N S RS p—— a— —
soutes whes amreerrec the saer ees comenly | 3 el s s doing
u pood jobe of siscrmirusing bosees shovs whe wory bish s teow s
AL, e g b dhe oyt ey il bue savmend e
ity
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HWH BN EA B O AP B P T g R aase &
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FEYITTTETTEENE
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(3] inhamal consistenty = 800 40 A2 B0 B4
YA 3, e e R A HTHEH e sl
Yol FH inbemat consistencyl 83

6. Read the passages in <A> and <B=, and follow the dircctions.
[4 points]

<A

Table 1. Resulis of Analysis

e | ® | comaion | 4P| e
1 048 037

2 054 .61

3 039 —0.21 .36 075

4 043 0.51

5 033 0.5%

IF = ltem Facility, ERAT = English Reading Achievement Test
The trainer explained the components of Table 1.

» Itern difficulty {1.e.. item facility) was measured by caloulating

+ Item discrimination was assessed by item-total comelation
which is a measure of correlation between an item and the
total test score (a value of .3 or above indicating satisfaciory
discrimination).

+ Internal consistency was measured by_Cronbach’s alpha
fa value of .8 or above indicating satisfactory internal
_consistency),

* Evidence about the degree to whieh fest scores agree with
those provided by a test of similar construct administered at
the same time/fiwas examined by correlation with the scores
of the ERAT feveloped and validated by a well-known
testing agency!

The trainer asked six teachers to interpret the results. The
following are their interpretations,

+ Teacher 1: Of the five items, ltem 2 shows the highest
power of discimingtion and ltem 5 is the most
difficult,

+ Teacher 2: Item 3 should be carefully investigated in terms of
the probability of miskeying and the construction
of item response options.

+ Teacher 3 There 15 a close relationship between the test
takers” performance on ltem 4 and the total test
SCore.

* Teacher 4 The extent w which test akers’ performanges on
this test are consistent is accepiable,

+ Teacher 5: In order 1o increase the infernal consistency off
the test, ltem & and Ttem 3 should be deleted,

* Teacher 6: The correlation between this test and the ERAT

displays the evidence of predictive validity,

Al a classroom assessment workshop, o teacher trainer

taught h inf

with basic concepts of assessment using the data from an

I f

i lysis along

English reading test consisting of 25 multiple choige items. <RB=

Table 1 shows the results,

[7|l=]
[Teacher 5} not dedete item 1, ibem 12| tem—total
correlation{item discrimination}2] 7] SR § ol B2 §7] =+

@ vREYYY

Ll L

a5 Haanl }

of ol ch g o] BHALE ool YR 23 (0 STHE 2R
[Teacher &) [predictive validity7}F obul2h) concurrent validity' @ 5
ofct-F 2HE §7| ++ I8 concurrentd] 0|32
~——administered at the same timeg §Hoto] 280h7) AHEE = 2

&
(ZHE e AR 4 e B0 o m Wit AR hH
201}

correcy Then suppert your answers with.evidence from <A= and

[2l2H First, Teachar 5 is net correct. Ta
increase the internal consistency of the
task, item 1 which has satisfactory item
digerimination of 357 should nat be
deleted Second, Teacher & is nok correct.
The correlation between this test and the
ERAT which is administered at the same
time displays the evidence of concurrent
walidity, net predictive validity,



Read the conversation and follow the directions. [2 points])

T1: Hello, Ms. Kim. You seem to be in deep thought.
Anything bothering you?

T2: Good morning, Mr. Lee. I'm thinking of how to make my
English class more effective.

T1: Yeah, I've been thinking about that, too.

T2: You know, _our textbook is organized by separatc
I kills. But the f Kill ] bl
from each other, I think.

T1: True. Speaking almost always implies a listener, and
writing and reading share obvious links.

T2: That’s exactly what I mean.

T1: Actually, I've been adapting the textbook since last
semester so_that my students can be exposed to the

language they will encounter in the real world.
T2: Sounds great. How have you been doing it?

T1: For example, I usually have pre-reading discussion time
i mata. It helps to make links en
speaking. listening. and reading. My students actively
i thiose kinds of tasks.
T2: That can be a good way. Or I could create a listening task
ot taki foll I}
i :
T1: Great idea. I think just a slight change can make a big

difference.
T2: Right. I'll try to make some changes and let you know
how it goes. Thanks for sharing your experience!

Note: T = teacher

Fill in the blank with lh@nosl appropriate word.

In the above conversation, the two teachers are talking about
the approach, which is now typical within a
communicative, interactive framework. The approach can
give J;tudcms greater motivation and make them_gngage more

actively, which can convert to better learning outcomes.

[FARE] 7|Y¥

(ZAE{2]) the ‘blank’ approach within a communicative, interactive
framework. > motivation, engage more actively, better learning outcomes,

(CHEHR)

=7 1) separate Ig skills> the four skills are rarely separable from each

other,

27{2) links between speaking, listening, and reading. > ss actively engage

in those kinds of tasks. = 3HUE{2| = the ‘blank’ approach

27{3) a listening task accompanied by note-taking(writing) or followed by

a group discussion(speaking).

=> four skills& $2i0lIA EEIA|Z| Xt 3H= WA => blank ~integrative-
/infesra dek ¥

A3 H|A|ol| M= four language skills7} rarely separabledtct, J2HA T1-&
BHYE-2 language in the real world(integration of four skills)ol| A=-24]
77| 9J8)| textbook adaptationg Sic}

ol|) schemata activation |3}l pre-reading discussion2 2H50{4|
speaking, listening, reading2 £%A|7] §5-8 2I3Y3ict

127} ofolc|o}g vhEct.

0}|2) listening task + note-taking(writing), listening task+group
discussion(speaking) & 13 #-5-& (integration of four skills,
integrative approach)ol| Sirs| 228!

2%Blo

[+ First, Ms_ Kang incorporates ‘Cultural Products’. She prepared tangible creations produced by the members of the culture,
British and English dwellings, as teaching contents, Second, Ms, Kang does not conform to teaching principle 3. Students were
asked to classify the houses into two groups and write their names in the correct column, reinforcing associations between
countries and cultures,

[2]2}] First, Ms. Kang incorporates 'Cultural Products’, She focuses on British and English dwellings, tangible creations produced
by the members of the culture. // Second, Ms. Kang does not conform to teaching principle 3 'avoid reinforcing associations
between nationalities(countries) and cultures’. Students were asked to classify the houses into two groups the British and the
American’, reinforcing associations between countries and cultures,

[$r72} 71] Ms Kang incorporates 'cultural products’. She teaches about British and American houses which are tangible
creations produced by the members of the culture, // Ms_ Kang does not conform to 'avoid reinforcing associations between
nationalities(countries) and cultures.’ Even though British culture is not same with UK and American culture is not same with US,
she makes students classify British and American houses into two groups and write their names in the column of 'houses in the
UK' and 'houses in the US',

[z} 72] The teaching principle Ms. Kang incorporates is Cultural Products. She introduces to students the housing styles of
British and America by showing pictures of houses on the screen with their names, // She does not conform to the principle 3)
'Avoid reinforcing associations between nationalities (countries) and cultures’. She makes students classify the houses into two
groups by dividing them into houses in the UK and in the US, reinforcing associations between nationalities and cultures,

[vFE-€{%]] First, Ms, Kang incorporates 'Cultural Products’. The lesson focuses on a tangible creation, which is British and
American housing styles. // Second, She does not conform to Principle 3. She reinforces nationalities by having students classify
the houses into two groups: the UK and the US.

** teaching contents2A] cultural products& A&} -) evidence from (A)

Cultural productsol| 31%}3}=7| British and English dwellings -) evidence from (B)

o|oj] cidl Ale&uf £ 4 9l EH0o| she teaches about~ she introduces to students, the lesson focuses on~ (o™ L}-2.02 443
AL olg B 4 e S

** NOT conform teaching principle (3) avoid reinforcing associations between nationalities and cultures - classify the houses
into two groups : the British and the American,

(A3 AI@GAll o] 274E 27] 0219l S)
*x* evidence from (A)2}1 o |7} E3|2}50] 2] =317 cultural products®] ‘tangible outcomes'7} ofL|9-8 7} A ZESH

[7IYE]
(Teaching contents) cultural products, tangible outcomes({A)), the British and American dwelling({B))
(Teaching principle) 3), avoid reinforcing~({A)), classify the houses into two groups~ ({B))

*x 74RO 2 HES| hSele 2748 A YSUS. clMoIA 273HE vhol HES| T 4 9SS 317]1(NOTolL} teaching
content/principle?]z| E012Hs}7|1)



O. Read the passage and follow the directions. [4 points]

-

Sy is a syntactic constraint that restricts movement
to be local; namely, movement should cross over only one
bounding node (i.e.. TP. NP, or CP). Crossing over more than
ungrammaticality. Let us consider the example in (1a), whose

derivation is presented in (1b).

(1) %. *@hapdid ar the rumor
K, *Wihet did [?/Sue hear Eg(ghe rumor
Bill broke GealN1? epk £ v

The wh-phrase in (1) involves two cycles of wh-movement, In
theirg) cycle, the wh-phrase raises from the complement of
which it raises to the matrix specifier position of CP in the

tis crucial to note tha 3
i This is a vioktion of Subjacency
and ungrammaticality results. Now consider a grammatical

sentence in (2), which involves one ¢vele of wh-movement
. IPs.| ly violating Subi

To explain the grammaticality of the example in (2), an
additional condition in (3) should be imposed for one of the
TPs not to be counted as a bounding node.

(3) Complements of a verb are not bounding nodes.

Bearing the above description in mind, let us reconsider
sentence (1). When whar undergoes the second cycle of
wh-movement in (1), it crosses over two bounding nodes.
This is because the Aouwn phrase is no longer a
bounding node.

Nove: **" indicates the ungrammaticality of the sentence.

[27AH

1. part of speechZ 17t #2237

2 H|2g 2E A

3. 1 2F0| subjacency& HEH HAE=X] EYEL7| by specifying the
bounding nodes that the wh-phrase crosses over.

[®IE &4]

Subjacency : movement should cross over only one bounding node(TP
NF. CP)

crossing over more than one bounding node in ‘one” cycle of movement
would result in ungrammaticality.

** one cycle of movement2] /E2H2 specifer of CPI(F il 2¢ S5
&E7ks)

complements of a verb are not bounding nodes.

[=teH Noun / (ii) is an ungrammatical sentence since the wh-phrase
‘which actress’ crosses over two bounding nodes NP “a picture of t' and
TP "a picture of t scare the entire population’ in one cycle of movement.

* secondl eyele * one cyele

‘(—"_“--.
a. actress diol oo Fhine af'&a.dn

Aacl (o $7re9) /nfidence n@m s
' L.c}:f'qﬂ Verb

i
)5/. KAich actress . seape
#he entire populdliors, § ¥

Khich actress afaac‘ég-.ﬁn écﬂtﬁhﬁpwﬁa{

.
Fhe MAoie m.:w}‘}? 1p

cpt et V

= B 5 .-
P73
(i} @i actress did {ruu think {hat 4ohn had é strong
influence nn@}? o P o e

(i) @ actress didQ{ picture of @)um the entire
population? 1p «p
(iii) Which' actress dianhn be]ieve@pciled the whole

movi ?P TP 55 o

AJ}@ Aeole.

Fill in the blank in <A> with a part of speech. Then, based on

< A=, i 7 i in <B>, and explain.

W ; viols i t

bounding nodes that the wh-phrase crosses over,

3. Read the passage and follow the directions. [4 points]

The act of searching for and finding underground supplies

of water using nothing more than a rod is commonly known
as “dowsing.” Many dowsers in Germany claim that they

"

respond to “carthrays” that emanate from water. These
earthrays, say the dowsers, are a subtle form of radiation
potentially hazardous to human health. As a result of these

claims, the

rman government in the mid-1980s conducted

A group of university physicists in Munich, Germany,
were provided a grant of 400,000 marks to conduct the
study. Approximately 500 candidate dowsers were recruited
to participate in preliminary tests of their skill. To avoid
fraudulent claims, the 43 individuals [who seemed to be the
most successful in the preliminary tests)were selected for the
final, carefully controlled, experiment.

The researchers set up aJQ-met
floor of a vacant barn, 2 whi g n coyld be
moved. Attached to the wagon was g
perpendicular to the test line, that was
2 pump with water,_The

l‘or cach trial of the cxpcriman was assigned

computer-generated random number. On the
the barn, directly above i a 10-meter

test line was painted. In each trial, a dowser was admitted to

this upper level and required, {vith his o hei' od, stick, or
other tool of choicc) 1o asccnainjm_mlm
on the ground floor was located.

Over the 2-year experimental period, the 43 dowsers

participated in a total of 843 tests. The experiment was
"dgnblé B!ind" in that nej C
nor theTdowser knew the A . even after a

(in decimeters from the beginning of the line) and the

dowser’s guess Fzre recorded. The German physicists from
these data conclutled ‘p their final rcpor) that although most
dowsers did not do particularly well in the experiments,
“some few dowsers, in particular tests, showed an
extraordinarily high rate of(corrccl gucssc%‘ which can
scarcely if at all be explained as due to chance ... a real core

of dowser-phenomena can be regarded as empirically

proven ...."”

guess was made.
For each trial, an examination of the ipe” jon (

SHYT :

1L 7|Y¥

[#1ZH] The ‘blank(N)’ along the line~ > 1 221§ W2} Qi= ‘29’
[21712] the experiment was ‘double blind' : neither the researcher on
the top floor nor the dowser knew the ‘blank(N)', even after a guess
was made, > HHAIH U dowser § C} 'FA'E BRCL

2, ‘Correct guess'S ZEst=M AIEElE= 5 71X 22!

X2 84 :

1. an experiment was conducted to inverstigate the possibility that
‘dowsing’ is a genuine skill.

2, ME AR MY Y

3. Ay #A' :'Line' on the ground floor of a vacant barn, along
which a small wagon could be moved, short length of pipe is
attached to the wagon, pipe-connected by hoses to a pump with
water > the ‘blank’ along the 'line’ > ** 2}212 u}2} XjLt= 23 - small
wagon, pipe, hose {12} FH S|

4. 'AlEe] A1t : the experiment was ‘double blind' in that neither
the researcher on the top floor nor the dowser knew the
‘blank(N), even after a guess was made. =dowser?} L}22| £&E2
BiOE, MEEIINE B 915 HUFTET 2A'E 2ECE

5. Of A|S20}C) the actual pipe's location and the dowser's guess
were recorded. > U0 2 (L E2 F SOHHX] 2, D24t AR
£ showed a high rate of ‘correct guesses’

RIZHREE 2A

3RCH 2i2lg W2t XL hs 2o

A2 AFEVIIS HYERT & O 'FA'E 220 > 'R HFOINM
238t A = ST Al HAE mo|Zo| 2|x| 37|

=> 2|21 g aj2pX|Li7h= 2 + 0| AEollM LY FHs X Y A

=> "7k pipe’s location

‘Correct guess'S ZHdH=0| AIRE|= S 7HX| 221 ; ** correct guesses
7tURE B2 8 UE3HM 7|

> 20| S22 = RIS st SopiALYE oh=0| Eedt £ 71K 24
= () ¥H 28522 QEE 0jo|Zo| 9iX|2t (2) dower's guess?t LX|5}
=X| etst=X| & #|3st3 Ect

=> 1) actual pipe's location, 2) the dowser’s guess

[EtoH pipe's location/ ‘actual pipe’s location’ and ‘the dowser's guess’
are used to determine the ‘correct guesses.

Words)

Rod : Ycf

Emanate : 28iCH LHSCH
Preliminary : 0f||2}
verpendicular : Xi2t0| 2=X| X0l

7ipes focaXion
ok FRIAIPT AUEHE by landon

olowsers > 2 A%

XML

Fill in the blank with the(W® most appropriate consecutive | ¥

words from the passage. (Use the SAME consecutive words for

both blanks.) Then, write the two factors used to determine the
underlined words, “correct guesses.”

/n/ﬂ /the 2. A\L /
%9143% 3 Aty S3Y w2t
wHZk 2 HE AR




@dzo( P(Sue Aea;{}upMe. rumaof cp bk that TPB brote ELHN?
WH 1fnm;é‘, §P66 ' I

' . ¢t ¢ £ s TP
and. cycle . cross over "cp', TP’ I8t cycle. cress {4

‘c g2yt ”P/\T
spec .

1 |VR
cpt of the verd

@ boor: o(oes PDehn seem@: lixe € wH

sne tycle : crose sver "7p’

not bound.ing Ae
C,D@ actress didG@Pyou Mlnﬁé@p&\ fa SHroaq snlluence N\@:T’)?

\
|S' LVC(L ’f* ‘)q V‘t
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12. Recad the passages in <A> and <B>, and follow the directions.

[4 points)

A

Digital technology provides students with a new battery of
tools with which language can be learned effectively. Below
are some apps that students can use for their English learning.

*Appl

(- om— ° R

Ecucaton
Contans ads In-app purchases

[+] Agd 1o wash st

‘_g\ Leamn English with our fantastic app

LB
Premiums

+ Helps you practice individual English sounds
+ Analyzes your word stress through a voice recognition
system

« Tracks your performance over ime
8oy o S Start v v |
. J
«App2
g [ro— e )

3. Have fun learming English
Eoucaton
/| Contans ads In-app purchases

[+] Add 1o wish st

» Helps you practice asking questions
» Provides a series of discrete questions to answer
« Offers opportunities to practice various sentence

patterns
[ buyror I Start vee v }
. J
+App3
s cn— e )

Let us guide your English leaming
Educaton

Contans ads Inapp purchases

|+ Add 1o wash it

« Helps you use English appropriately

« Offers genuine opportunities 1o exchange ideas
« Provides options to match you with speaking buddies
from all over the world anytime

Minsu’s Case

Minsu is very active in English classes and always looks for
opportunities to speak English with other people. Since he
lives in Korea, where English is not usually used outside the
classroom, it is difficult to find English conversation partners.
He once tried a conversation program where he spoke with
native speakers on the phone. However, the program seemed
too rigid in that he could only practice at designated times and
with predetermined contents. Now, he wants to find an app
where he can talk with partners whenever he wants and apply
what he learns in the English class while speaking in a more
natural context.

Jieun’s Case

Jicun is afraid of speaking in English. But she was not like
that before. She used to be outgoing and willing to
communicate with people in English whenever she could.
However, sometimes people didn’t understand her and kept
asking her to repeat the words she had just said. When she
consulted her English teacher about the issue, the teacher
advised her to focus on icing pronunciation of words.
Now, she is looking for an_app which could help her practice
pronouncing English words accurately.

Based on <A>, identify the ONE most appropriate English
leaming app for Minsu and Jieun, respectively. Then, explain
your answers with evidence from <B>.

[27AIE]
1. Minsu@t JieunOiA| 71 Zgtet app@ 242} M85}
2. evidence from <B>

<Minsu>

Talk with speaking partners whenever he wants and apply what he learns
in the English class while speaking in a more natural context, having
genuine opportunities to exchange ideas.

<Jieun>
Focus on practicing pronunciation of individual English sounds, Practice
pronouncing English words accurately,

[Ee

First, app 3 is appropriate for Minsu. He can talk with speaking partners
whenever he wants and apply what he learns in the English class while
speaking in a more natural context, (= having genuine opportunities to
exchange ideas). Second, app 1 is appropriate for Jieun. She can focus on
practicing pronunciation of English words accurately.

* evidence from <B>2t C|4A0| LEGUH <A>01M 371 Of% 7H2I0FA|
B LIS 2018HK| YA} OfR0] <A>0M 8H= 0| <B>0Af 8t Y3 YAIBICH
<B>2| IAHRY ¢ EOI0| RHSICID YT FLOID IHH2AN 2|

[BHEE{R])

First, He wants to talk with partners whenever he wants and apply what he
learns in English class while speaking in a more natural context. Second,
App 1is appropriate for Jieun. She wants to focus on practicing
pronunciation of English words accurately to increase her intelligibility.

14. Read the passage and follow the directions. [4 points]

For at least 10,000 years, humans have been manipulating
their own brains by drinking alcohol. And for at least the last
few decades, researchers have wondered whether alcohol
had a positive effect on physical health, Study after study
seemed to suggest that_people who imbibed one alcoholic
beverage per day —a 12-ounce beer, a 6-ounce glass of wine,
or a 1.5-ounce shot of spirits —had healthier hearts than did
people who abstained from drinking altogether. A drink a
day, it seemed, kept the cardiologist away.

*Z: the methods in these studies may be @d. When

Kaye Fillmore, a researcher at the University of California,

San Francisco, and her team analyzed 54 published studies
on how moderate drinking affects the heart, they found that
most of the drink-a-day studies had not used random
_assignment. In studies with random assignment, researchers
used coin tosses or the like to decide into which condition —

the control group or various experimental groups—each
study participant should go. By letting chance dictate who
goes into which group, researchers are more likely to end up
with truly comparable groups.

Instead of randomly assigning participants to drinking and

non-drinking groups, though,@Nof the@)studies compared
people who were already having one drink daily to people

took plac man;y eople have a drink once in a while.

Usually, people ;Sho never drink abstain for a reason, such

as religious prohibitions or medical concerns.

In fact, Fillmore and her team found that many of the

irin} in o i " —
_for medical reasons, including advanced age or a history of

alcoholism. In other words, the nondrinkin ups in m
of the studies included more unhealthy people to begin with,

compared to the drinking groups. As a result, these studies

didn’t show that drinking alcohol led to better health.
Instead, they showed that better health often leads to a level

of alcohol consumption that is moderate.

First, describe the . 1stics Ici S
groups in 47 of the 54 studies. )‘Efecond explain @@ those 47
studies were mdm X

EH2E :

1. LIE0| Yo FE27172t AR B0 EHOIE & 2R #
7HRtEe| SEE 22 MEst7|

2. oW iR HAS0| HAH MR 2EEX| O 0|7
Mz > 2EEQ| 2121 Detailed infoR2 F=x2| MHEX|
2D 0l0| Bl FIHE'E EEEHM BIHEYFEE=A
0| 7z Hi2Elstoh

X224

1. whether alcohol had a positive effect on physical
healthoi CH&t 422} EIMEICE - MI

2. ofx|gto| AR BE, ‘BH 7 QICt > 2& 2H]?
random assignment® AF28HR| Y=Ch=A ﬂ
(random assignment> end up truly comparable
groups)

3. instead of randomly assigning participants to
drinking and non-drinking groups > participants in
two groups 1) drinking, 2) non-drinking (&2 H--0f
OpAl= AF2tE} 0|0] £ OFAX| RUE AIRHE H|)

4. many of the nondrinkers in these studies were
abstaining from alcohol for medical reasons=already
unhealthy people > 2| &2 S&(whether drinking
alohol led to better health)S SHAI5HX| 28 : MI

47 of the 54 studies(=CHE 22| Y12E=) compared 1)

people who were already having one drink daily to 2)

people who were already teetotaling

= Y 20| ZZol| 0x|= HEHo| chal M A} =24 ol
&0 7= 0|0] &8 DAL JUE M (FEY) &8

B2 A v@sic

Cf. Haksi| H| a2t HHSH Boten UF7|2Hset =
£ Opel/etopel AILS vl D5 23 20| )| 0|X|l= HE
£ 25t SHE £ It

> this design method is a problem. > 0|) the studies

didn’t use random assignment >> 7|2|E!

AlEO 2F 7471 {9l

Random assignment® AMEEIA| Y1 already having
alcoholZ} who already teetotaling for medical reasonss
H|Z > more unhealthy people to begin with.

[E42H First, the drinking groups consist of people
already having one drink daily and the nondrinking
groups consist of people already teetotaling. Second,
those 47 studies were flawed in design since they
compared those who were already drinking to those
who didn't drink for medical reasons instead of using
random assignment. It means the non drinking groups
included more unhealthy people to begin with.




11. Read the poem and follow the directions. [4 points])

Rite of Passage % 2t

As the guests arrive atmy son’s party
ey gather in the living room — o2 2 yo\mn 22| go\ep
ggr_t men, men in first grade 8}2) M@ okole) ¥ 5 TR
with smooth jaws and chins. °122{%%G% UM A719|
) Hands in pockets. they stand agpund
jostling, jockeying for place, fights
breaking out and calming. One says to another

AN

3)) How old are you? Six. I'm seven. So?.

They eye each other, seeipg themselves

tiny in the other’s pupils.“They clear their

throats a lot, a room of small bankers,

they fold their arms and frown. / could beat vou

up, a seven says to a six,

the dark cake. round and heavy as a

turret; behind them on the table. My son,

freckles like specks of nutmeg* on his cheeks,

chest narrow as the balsa® keel of a

model boat, long hands

cool and thin as the day they guided him — e day Ae
out of me, speaks up as a host Speakers SoA
for the sake of the-group. B
We could easily kill a two-vear-old,

he says in his clear voice. The other

men agree, they clear their throats

like Generals, they relax and get down to

_playing war, celebrating my son’s life.

*nutmeg: a powdered brown spice

*balsa: a tropical American tree or the wood from this tree

2

v

\[ Considering the title of the poem, explain why the speaker
i 3

Then, complete the commentary below with the@)_mﬂ_

appropriate consecutive words from the poem.

The birthday cake

like *“a ‘turret” juxtaposes
playfulness and violence because_a birthday cake evokes

enjovment, whereas the word “turret” reminds us of a milita
In a related way, the-activity-of:

: . o=
can be interpreted to symbolize the same contradictory
elements

EHo|E Y Atnary
1. 7| > 'gIZF2 HEtE £ 21X 2j0|E gadct
2. O}O|S& ‘short men'22 H§E 0|

;"'ﬁf 2|l & yR:
hday cake shaped like ‘a turret'> 1) playfulness,

” enjoyment, 2) violence, military weapon =>
contradictory=> ¥IZx 0|9} 2 =2|!

I HE A

in a related way= 2 Q12 turret 22| 70|37} &gt
£ 0J0[X| & 71T £ QAE A7IAIP|E= 22 T2 YAlel 'Y
© 20| 'k,

%, ofgloto|et 2 JFTH+HY 24 F X2 siME £ U
2o=HIZY

=> ¥IZ} : playing war(war + celebrating son’s birthday)

K& 24

of| of2lotole] 24 3t AAEEO| 2

1-4) 0{22] ¥E EME Y. 0j22 YE S WRtd
OlF BAXOR YUNIEIE A%}

Cf. Rite of passage £1t2|2{ : an official ceremony or
informal activity that marks an important stage or
occasion in a person’s life, especially becoming an adult,
>> The speaker describes the guests as "short men” to
represent that they undergo a rite of passage, significant
experience to become adults.
| & LtX} 010 £0| o2 MESIPA =7

- H|REH A2 SjA QES Oj0IE adults2 EIE %
a7 MBIER2 A HSS = g=d ]

X rite of passageE M0 LA =AY )

go2 5H= apxioj2tn L|Ct 22|30 0jo] o] Y

201541 BH 3 AFEIH UoL| HDSIME Al
o)

O[0|&2 short men0|2t YiZ8t O|F :
OjZlotole| R&E StUAXIT, 022 HWEE FtnU7| WS
ofl.

>> ‘because the guests behave like adults’ + 2HZ2M Al
o L2 2cH2 ofo| 52| WES LIEHs BEHE RAHM0|E
Cho| oto|Se| #E0| 2= 'Y CHE'e| 2Y0l7| w@od..

[2]2}0]&!] The speaker describes the guests as ‘short
men', because their behaviors show the characteristics of
masculine adults such as fighting for their status.

[ZArEeH

~ because they are showing some of the fundamental
qualities and flaws of adult men in terms of competing
for status and showing violent character.

~ to represent that they undergo a rite of passage,
significant experience to become adults. To be specific,
the children show violence to prove their masculinity like
adults as a way of celebrating their lives.

The speaker believes that they are proud of themselves
and trying to intimidate one another (physically and
psychologically) to prove their masculinity and
individuality,

2. Read the passage and follow the directions. [2 points]

head (T) that is separated from a verb in the underlying

structure, as shown in (1) and (2). The T-affix needs to atgach
to a verb in the surface structure via so-called -

Movement.” To be specific, I_lszmm.mm_]nmaLmrm@
auxiliary verbs be /haveraiseto T # 017 7%§+) 224iren|

Je %
(1) a. Joe finished the cake. ks

b. [rp Joe T -ed [vp finish the cake]]

(2) a. Joe was listening to music.
b. [1p Joe T -ed [vp_be listening to music]]

Let us now observe the data in (3) and (4) that involve
so-callcdal!ﬂh_l’.hmr_r.lliusis.tﬂﬂljasiﬁ' VP-ellipsis is
assumed to be licensed when the verb phrase in the second
For example, the VP of the second conjunct in (3a) is identical
to the one in the first conjunct, and deletion of the VP is
possible in (3b)., The same holds of (4b). However, an
interesting dif‘fe?{ncc is observed; namely, dummy do is

ired i t e hibited in (4).

(3) a, Joe didn’t finish the cake, but Maryﬁnis@mkg.
‘Qf. Joe didn’t finish the cake, but Mary @ﬁﬁﬂh—!he

x *Joe didn’t finish the cake, but Mary <finished-the
eake>.

(4) a. Kim wasn’t listening to him, but Sue a¥a$ listening to
him, Aead moement — be+ras — vpevps
\I{ Kim wasn’t listening to him, but Sue was <lstening-te
him>.
X. *Kim wasn’t listening to him, but Sue did <be
W 3 hims>.
Note I: **" indicates the ungrammaticality of the sentence.
Naote 2: Strikethrough inside angled brackets indicates deletion,

Fill in the blanks (I’ and @ in the correct order with the @
syntactic operations from the passage.

To derive (3b) and (4b) and prevent the derivation of (3¢) and
(4c),_a certain order of syntactic operations must take place.
For(3b), (1  musttake place priorto 2, but for
(4b), @ must take place priorto

[27AH] 7Id
1. (1), (2) g17H0)| HF$t syntactic operation Z{7|

X2 84]

Tense-affix(-ed, -s)7} TO|l 9/X|

« Head movement : T lowers onto lexical verbs, auxiliary verbs 'be/
have' raise to T, ((1)2 T2} lowering, (2)&= aux verb ‘be'7} raising)

«  VP-ellipsis : when the verb phrase in the second conjunction is
isomorphic to that of its corresponding antecedent, ((3), (4) & C}
VP ellipsis?} X 8&l 2S04, X0 (3)2 dummy do?t 2282 (4)
= dummy do?t § % 8l= AR)

(1), (2) 22 (3), (4) 2F0| ZU4|.

) op
AN
c
A
¢ Ay
N
A
VAN
<
oo — CelyA—> ojdre uyo| 2uvrt
! o @D — did
@D oy e
R

S

) Frmich the care’ 2} wWdzf Mgyin, vp ellipsis,
2) olid o $3F

cake>. VP Lok the care’ 7 AU —ed 7t Josder onh the fextca/ werb dummy ‘ols’.

%e ‘raises £ the fieadk 7!

N

Head. moement, be— was
Vp ellipsis, vp — “l'—f

(3b) VP ‘finish the cake'e| 2&& SXI8H0} 2ICHZ ellipsis?t YojLIE=ME, T(-ed)?}
Li2{ 22| finished~2 HIPLITE VP ellipsis?} 91 LojLiopsic),

(4b) 2§ VP 'be listening to him'0]24Z 2L 0174 listening to himF ellipsisE|?|
I20] bel= OJTI7}2 BXIFOFE. J2{LIMt the auxiliary verb 'be’ raises to T, (**
be?t VP ¢tof UEE RIXISHOFE)
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